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AQA - Statistics - GCSE 2022 Mathematics

1. June/2022/Paper_8300/1F/No.8
(a) For a set of five numbers,

the mode is 8

the medianis 12

Work out one possible set of five numbers.

[2 marks]
Answer
(b) Here are the heights, in centimetres, of some children.
98 103 91 85 159 102 91
Which height is an outlier?
[1 mark]
Answer cm




2.
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June/2022/Paper_8300/1H/No.17

75 people attend a clinic.
Their ages are recorded and a cumulative frequency diagram is drawn.
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A nurse makes a statement about the ages of the people at the clinic.

He says,

“‘More than twice as many people are in their 60s as in their 50s.”

Is he correct?
Tick a box.

Yes

Show working to support your answer.

No

[3 marks]




